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(1) # A,BEIHEE; (2) # A,BHEM; (3) # ACB.
2 (O AB=J18 P(AB)=0, giinE AR A4

P(A U B) = P(B) +P(A) =0.7
P(B) = 0.3

(2) T A, BHEM, A
10



P(AB) = P(A)P(B)
P(A U B) =P(B) + P(A) — P(AB)
=P(B) + P(A) — P(A)P(B) = 0.7

_0.7—P(A) _ 0.7—0.4 _
PB) ==—pay = 1—=0.4 _*°

(3) HFACB., &
P(AU B =PB) =0.7

27. & P(A)=P(B)=P(C)=%. A.B.C HIEIST 3R

(1) A,B,C Z/LHEH—AM8E%R; (2) A,BCIAIFHM—P B9#%; (3) A,B,CZE
% M — P BHER.
& (1) A.B.C Z2/VHB—1HER
P(AUBU O =1—P(ABC)

—1_ D{AYND(D ~_1._98 _19
=1—P(A)P(B)P(C) 57 = 37
(2) A,B.CIBtFH ¥ —P 1%k P(ABCUABCUABC)=P(A)P(B)P(C)+P

= = o) _i _é. .i:]‘_z
<A>P<B>P<C>+P(A>P<B>P<C>—27+27+27 o7

(3) A.B.C EZ 8~ P My 4 P(ABC) UABCUABCUABO) =5 + 7+ 5

oo

_ 20

o

28. W 2 . = Ah s e [A)— B AR — . AT 5 BARHESR 53518 0. 7.0. 8
F10. 9. 3K B Frdk o L.

B kA ={HEPER A ={ZEHEP B LA ={REH B B={T Bin)

P(B)=P(A, V A, V A;) =1—P(AAA)
=1—0.3X0.2x0.1=0.994
29. # P(B|A)=P(B|A),ififM .5 A 5 B M E M.
iE HTF PB|A)=PB|A) &
P(AB) _ P(AB) _ P(B) — P(AB)

P(A) P(A) 1—P(A)
| (1—=P(A))P(AB)=P(A) (P(B)—P(AB))

i P(AB)=P(A)P(B)
FrLl, $i4k A 5 B AHE 5L

30. WFRA# P(A)>0 Il P(B|A)=>=1—

P(B)
P(A)”

iFi— F|f P(B|A)+P(B|A)=1,1 F ABCB,iift P(AB)<P(B), |

1 p(R _,_PWUAB) _ ., P®B
P(B| 4) = 1=P(B| A) = 1="o0 B2 15

EEZ FIANE A Rk A
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